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Economics 3334 – Intermediate Macroeconomics

Prof. Vollrath

Fall 2005

Final Exam
There are 5 problems.  Each has multiple parts.  Each part may have one or two actual questions in it.  Make sure you answer all of them.  Within each problem the parts get harder as you go on, so manage your time accordingly.
1. (25 points)  Consider a closed economy.  Look at what happens as the population ages and changes its consumption patterns.
a. (4 pts) First, draw the loanable funds market in the U.S. with a vertical savings curve.  Label equilibrium investment I* and equilibrium real interest rate r*.
b. (4 pts)  Now draw the money market and label the equilibrium interest rate r*.  
c. (4 pts) Now draw the IS/LM diagram and label the equilibrium interest rate r* and the equilibrium output level Y*.   
d. (3 pts) As the baby boomers are aging, they are realizing that they haven’t saved nearly enough money to retire on.  So they have started increasing their savings rate.  Show how this increase in savings affects the loanable funds market you drew in part a)
e. (5 pts) How does this change in the loanable funds market shift the IS curve?  Show it on your graph from part c)  Does output go up or down?  Does the interest rate go up or down?
f. (3 pts) The Fed decides that they want to keep output at the original level of Y*.   Should the Fed raise or lower the money supply?   How does this change in the money supply affect the LM curve? Show it on the IS/LM diagram from part c).  
g. (2 pt)  If the Fed didn’t act at all, what would happen to prices in the long run when savings go up?

2. (25 points)  This problem is about how slowly the federal government can react to economic changes.  Any changes to G or T requires Congress to meet, argue, point fingers, agree, and finally pass a new budget, which can take years.  
a. (4 points)  Draw an IS/LM diagram and label the equilibrium interest rate r* and the equilibrium output level Y*.

b. (4 points)  Draw the AD/AS diagram.  Draw it so that the AD curve, the SRAS and the LRAS all cross at a single point.  Label this equilibrium point P* and Y*.
c. (3 points)  Now consider that there is an oil shock that raises the SRAS curve to P**.   Show this shift on the AD/AS diagram from b).  Label the new equilibrium output level Y**.
d. (3 points)  Show how this increase in the price level to P** shifts the LM curve you drew in a).   Label the new equilibrium interest rate r** and the new output level Y**.

e. (2 points)  In the long run, what will happen to the price level in this economy after the shock?  

f. (2 points)  Show how this long run change in the price level will affect the IS/LM diagram in part a).  Will there be any long-run impact on interest rates or income?
g. (3 points)  After the price level has adjusted to its long-run level, the government finally gets around to passing a tax cut.  How will this tax cut affect the IS/LM diagram in part a)?  What happens to output and interest rates?

h. (2 points) What happens to the price level in the long run because of this tax cut?

i. (2 points)  What happens to interest rates in the long run because of the government’s tax cut?   
3. (25 points)  Now consider a small open economy where the world interest rate is set at r*.  

a. (4 points)  Draw the loanable funds market.   Show the world interest rate, r*, as equal to the equilibrium interest rate that would hold if the economy were closed.   
b. (4 points)  Draw the open economy IS/LM diagram with the nominal exchange rate, e, on the vertical axis.  Label the equilibrium nominal exchange rate e* and the equilibrium output level Y*.
c. (4 points)  Rich country investors have decided to invest heavily in this small economy, which means that the world interest rate falls for this small open economy.  In the diagram in part a), show a fall in r*.   What happens to the net exports of this country?
d. (4 points)  How does this change in r* shift the IS curve?  Show the shift in the IS curve in your diagram from part b).  What happens to the equilibrium exchange rate?  What happens to output? 

e. (4 points)  The central bank in the small country now decides it wants to fix the exchange rate at the original level of e*.    Should they raise or lower the money supply to do this?   Show in the diagram from b) how this shifts the LM curve.    
f. (3 points)  How does this shift in the LM curve affect income?  How does the shift in the LM curve affect net exports?  (Hint: Remember that savings depends on income)
g. (2 points)  What will happen to the price level in the country because of the shift in the LM curve?   
4. (15 points)  Consider the model of money creation from Chapter 18.

a. (5 points)  Write down the equation for money supply M in terms of the monetary base, B, the currency ratio, CR, and the reserve ratio, RR.  

b. (5 points)  Computer hackers wipe out the bank records of millions of people.  People get scared of putting their money in banks, so the currency ratio goes up.  What happens to the money supply?  

c. (5 points)  What are the two things the Fed could do to offset the change in money supply from part b) ?

5. (10 points)  True/False.  Each of the following is worth 1 point

a. _____  My neighbor is a drug dealer.

b. _____  Debt relief for poor countries would definitely help them get richer. 
c. _____  In the long run, raising the money supply will only raise prices.

d. _____  The unemployment rate in the United States is much lower than the unemployment rate in France.

e. _____  Increasing trade restrictions (tariffs, quotas, etc..) will lower our trade deficit. 

f. _____  My daughters are the cutest human beings on the face of the planet.

g. _____  In the long run, raising government spending leads to higher prices and interest rates.

h. _____  The new Federal Reserve chairman is Ben Bernanke
i. _____  Taking intermediate macroeconomics has been a life-altering experience that has made you a better human being. 
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